BP~795

Founded 1847
南侨小学
NAN CHIAU PRIMARY SCHOOL
PRELIMINARY EXAMINATION
2021
MATHEMATICS
PAPER 1 BOOKLET A
PRIMARY 6
Name:
Instructions to Students: 1. Do not turn over the page until you are told to do so. 2. Follow all instructions carefully. 3. Answer all questions. 4. Shade your answers in the Optical Answer Sheet (OAS) provided. 5. The use of calculators is <u>NOT</u> allowed. *This paper consists of 6 pages altogether.

÷

www.testpapersfree.com

Questions 1 to 10 carry 1 mark each. Questions 11 to 15 carry 2 marks each. For each question, four options are given. One of them is the correct answer. Make your choice and shade your answer (1, 2, 3 or 4) on the Optical Answer Sheet. (20 marks)

- 1 Which one of the following is five million, one hundred and twenty thousand in numerals?
 - (1) 5 000 120
 - (2) 5 100 200
 - (3) 5 102 000
 - (4) 5 120 000
- 2 Which one of the following is the same as 30 kg 70 g?
 - (1) 3070 g
 - (2) 3700 g
 - (3) 30 070 g
 - (4) 30 700 g
- 3 What is the length of the pencil?



- (1) 1.5 cm
- (2) 8.5 cm
- (3) 9.5 cm
- (4) 10.5 cm

NCPS_P6_Prelim_Paper 1_Booklet A_2021

4 Which one of the following would most likely be the mass of a mobile phone?

- (1) 16 g
- (2) 160 g
- (3) 1.6 kg
- (4) 16 kg

5 Four letters are shown on a square grid.

<i>MANN</i>		777759777	

How many of the letter(s) has/ have a line of symmetry?

- (1) 1
- (2) 2
- (3) 3
- (4) 4

6 Express $3\frac{1}{20}$ as a decimal.

- (1) 3.05
- (2) 3.1
- (3) 3.12
- (4) 3.5

NCPS_P6_Prelim_Paper 1_Booklet A_2021

7 Simplify 5w + 10 - 4w - 8

- (1) w+2
- (2) w+18
- (3) 9w+2
- (4) 9w + 18

8 Arrange these distances from the longest to the shortest.

	2 km 305 m		2.3	5 kn	n $2\frac{3}{5}$ km
	Longest				Shortest
(1)	2 km 305 m	,	2.35 km	,	$2\frac{3}{5}$ km
(2)	2.35 km	3	$2\frac{3}{5}$ km	ł	2 km 305 m
(3)	$2\frac{3}{5}$ km	,	2 km 305 m	,	2.35 km
(4)	$2\frac{3}{5}$ km	3	2.35 km	,	2 km 305 m

9 The figure is formed by a square, a semi-circle and a quarter circle. Find the area of the shaded parts. Take $\pi = \frac{22}{7}$.



- (1) 33 cm²
- (2) 38.5 cm²
- (3) 115.5 cm²
- (4) 154 cm²

- 10 In a shop, the average number of T-shirts sold in 3 months was 28. In the first month, 13 T-shirts were sold. The difference between the number of T-shirts sold in the second month and the number of T-shirts sold in the third month is the smallest possible. The number of T-shirts sold in the third month was fewer than the number of T-shirts sold in the second month. How many T-shirts were sold in the third month?
 - (1) 7
 - (2) 14
 - (3) 35
 - (4) 70
- 11 The figure below shows a trapezium ABCD. EDC is a straight line and AB // DC, \angle DAC = 24° and \angle ADE = 70°. Find \angle BAC.



www.testpapersfree.com

Types of coins	Number of coins
5⊄	2
10¢	1
20⊄	2
50⊄	1
\$1	1

13 Gladys had the following types of coins in her purse.

She took out 3 coins from her purse and placed them into a donation can. Which one of the following amounts could not be the amount taken out of her purse?

- (1) \$1.25
- (2) \$0.90
- (3) \$0.75
- (4) \$0.55
- 14 There are some red and blue markers in a pencil case. The table below shows the number of permanent and non-permanent markers.

Туре	Permanent	Non-permanent
Red Markers	9	16
Blue Markers	8	32

Based on the information given in the table, which one of the following statements is correct?

- (1) There are 17 permanent blue markers.
- (2) The number of permanent red markers is 36% of the total number of red markers.
- (3) The total number of blue markers is fewer than the total number of red markers.
- (4) The ratio of the number of non-permanent blue markers to the number of permanent blue markers is 1 : 4.

15 A table with 4 columns is filled with numbers in a certain pattern. The first 4 rows of the table are shown below.

	Column A	Column B	Column C	Column D
Row 1	1	2	3	4
Row 2	8	7	6	5
Row 3	9	10	11	12
Row 4	16	15	14	13
•	•		•	a
•	•	•	•	-
•	•	•	•	•

In which column will number 123 appear?

(1) Column A

ć

- (2) Column B
- (3) Column C
- (4) Column D

End of Paper 1 Booklet A

.



南侨小学

NAN CHIAU PRIMARY SCHOOL PRELIMINARY EXAMINATION

2021

MATHEMATICS

PAPER 1 BOOKLET B

PRIMARY 6

Name: _____

Class: Pr 6_____

Date: 20 August 2021

Time: 1 hour (Booklets A & B)

Marks:

25

Parent's Signature:

Instructions to Students:

1. Do not turn over the page until you are told to do so.

- 2. Follow all instructions carefully.
- 3. Answer all questions.
- 4. Write your answers in this booklet.
- 5. The use of calculators is NOT allowed.

*This paper consists of 7 pages altogether.

www.testpapersfree.com



-		
6	Find the value of 1065 – 98	
	Ans:	
	Alis,	
7	Find the value of 3 + 7. Give your answer correct to 2 decimal places.	
	Ans:	
<u> </u>	Write down all the common multiples of 6 and 8 that are smaller than 50.	
8	AAUte down as the constitution planched of a care a surface of the	
	Ans:	
	Ans:	
	Ans:	

.

÷,

,

.

÷

19	What is the value of $\frac{8k+6}{6}$ whe	en <i>k</i> = 9?	Do not write in this space
 .		Ans:	
20	At a fruit stall, the price of an ora an apple is half the price of an or orange to the price of a mango to	inge is $\frac{3}{7}$ of the price of a mango. The range. What is the ratio of the price of the price of an apple?	e price of f an
		Ans:	
NCPS	_P6_Prelim_Paper 1_Booklet B_2021	2	
		www.testpapersfree.com	

•

Meiling is 45 kg. mass in kg?	She is 400 g heavier than her s	ister. What is her	sister's
		Ans:	kg
The table shows	the charges of a photograph p	inting shop.	
For th	e first two 5R photographs	\$3 each	
Subs	equent 5R photographs	\$2 each	
Janet printed son photographs. Ho	me 5R photographs. She paid a w many 5R photographs did st	a total of \$30 for t ie print?	he 5R
photographs. Ho	w many 5R photographs did sr	Ans:	
photographs. Ho 3 A wire measurin	me 5R photographs. She paid a w many 5R photographs did sh g 24 m long is bent to form two nake the big triangle is twice the vhat is the length of the wire us	Ans: triangles as show	wn. The nake the
photographs. Ho 3 A wire measurin	w many 5R photographs did sr g 24 m long is bent to form two	Ans: triangles as show	wn. The nake the
photographs. Ho 3 A wire measurin	w many 5R photographs did sr g 24 m long is bent to form two	Ans: triangles as show	wn. The nake the

• 、

•

Ì

ļ

Use the table and bar graph below to answer questions 24 and 25.

Muthu received the same amount of allowance each month from January to April. The table below shows the amount of money Muthu spent from January to April.

Months	Amount of money spent
January	\$80
February	\$46
March	\$38
April	\$72

The amount of money saved is represented by the bar graph below. The bar for the amount of money saved in April has not been drawn.



24 Draw the bar for the amount of money saved in April in the bar graph above.

25 What percentage of his total allowance received from January to April did Muthu spend?

NCPS_P6_Prelim_Paper 1_Booklet B_2021

Ans:	
------	--

%

Do not write in this space

4

Score:





Score:

30 Jasmine had a box of red and white beads. $\frac{3}{4}$ of the total number of beads were red. Jasmine used $\frac{5}{9}$ of the number of red beads and some white beads to make a necklace. She used $\frac{1}{2}$ of the total number of beads to make the necklace. What fraction of the number of white beads did she use to make the necklace?

Ans:	



7

NCPS_P6_Prelim_Paper 1_Booklet B_2021

Score:

BP~811

٠,

-

.

·

.

•

.



南侨小学

NAN CHIAU PRIMARY SCHOOL

PRELIMINARY EXAMINATION

2021

MATHEMATICS PAPER 2 PRIMARY 6

Name:	()		Marks: 55
Class: Pr 6			Time: 1 h 3) min
Date: 20 August 2021			Parent's Sig	gnature:
 Instructions to Students: Do not turn over the page until you and the page until you and				Total Marks: 100

*This paper consists of 15 pages altogether.

www.testpapersfree.com

·

÷

BP~813

,

.

ansv	stions 1 to 5 carry 2 marks each. Show your working clearly and write your Do not writ vers in the spaces provided. For questions which require units, give your answers (10 marks)
1	A jug contained 2 litres of lime juice. Freya poured equal amount of lime juice into several glasses. She poured $\frac{3}{8}$ litres of lime juice into each glass. What is the most number of glasses of lime juice she could have?
	Ans:
2	The number of visitors to a gallery was 9000 in February. This was a 20% increase from the number of visitors in January. How many visitors were there in January?
	Ans:
NC	PS_P6_Prelim_Paper 2_2021 1 Score:

•

.

•

1

İ

·

,

3 A rectangular tank of height 2 m has a square base of side 80 cm. W volume of water in the tank when it is $\frac{1}{4}$ – filled with water?	hat is the	Do not write n this space
·		
Ans;	m³	
4 The square grid shows the positions of A, B, C, D, E, F and G.		
 (a) Susan walked directly from point F to point C in a straight line. In which direction did she walk? (b) Ali stood at one of the points facing point G. After he turned 45° clockwise, he faced point D. Which point was Ali at? 		
Ans: (a)(b) <u>Point</u>		
NCPS_P6_Prelim_Paper 2_2021 2 Scc	ore:	

÷

5 The table below shows the number of electronic gadgets sold by Mr Tan in four bo not write in this space months.

Months	Number of electronic gadgets sold
August	156
September	132
October	148
November	?

In order for Mr Tan to qualify for the yearly 'Best Salesman Award', he has to sell an average of 170 electronic gadgets for 3 out of the 4 months. What is the least number of electronic gadgets that he has to sell in November in order to qualify for that award?

Ans: ____

1

		<u>.</u>	BP~817
- pro-	questions 6 to 17, show your working clearly and write your answers in t vided. The number of marks available is shown in the bracket [] at the e stion or parl-question.	he spaces nd of each 45 marks)	Do not write in this space
6	The prices of two sizes of candles at a shop are shown below. Small candles \$3 each Large candles \$5 each Sarah bought an equal number of small candles and large candles. S \$120 altogether. How many candles did she buy altogether?	he spent	
7	Ans: When Taps X and Y are turned on at the same time, they can fill up a	[3]	
	completely in 6 minutes. Tap X alone will take 10 minutes to fill up the completely. How long will it take for Tap Y alone to fill up the tank com	tank 1	
	Ans:	[3]	
ICPS_	_P6_Prelim_Paper 2_2021 4	core:	
	www.testpapersfree.com		

8 In the figure below, ABCD and CEFG are rhombuses. ADH and ECD are straight lines and BC = CE. ∠CGD = 65°. ∠GDH = 47°. Find ∠ABE.



Do not write in this space



[3]

Ans:





www.testpapersfree.com

Do not write

in this space

- 10 The number of workers in Factory A was $\frac{4}{7}$ of the number of workers in Factory B. When 36 workers transferred from Factory B to Factory A, both factories had the same number of workers.
 - (a) How many more workers were in Factory B than in Factory A at first?
 - (b) How many workers were there altogether?







BP~823







16 The figure is formed by 4 identical quarter circles. PQ is 58 cm.



(a) Find the radius of the quarter circle.

- (b) Find the perimeter of the figure.
- (c) A circular wheel is formed by the 4 identical quarter circles. The wheel turned along the straight line WZ and reached the wall as shown below. The distance between point X and point Z is 615.6 cm. How many turns did the wheel make?



Do not write in this space

[2]

Ans: (a) _____ [1]

(b) _____

(c) _____ [2]

BP~827



www.testpapersfree.com

Do not write in this space

(c) Megan rearranged the cubes to form the following figure. She wanted to build a set of steps with more 1-cm cubes. The figures below show how she built the steps.



If Megan continued building the steps in this way, what would be the height of the set of steps that had 168 cubes?



NCPS_P6_Prelim_Paper 2_2021

[3]

www.testpapersfree.com

SCHOOL	:	NAN CHIAU PRIMARY SCHOOL
LEVEL	;	PRIMARY 6
SUBJECT	:	MATH
TERM		2021 SA2

ċ

PAPER 1 BOOKLET A

111

	00						_		
	Q2	Q3 ⊘	Q4	Q5	06	07	08	$\cap \circ$	010
4	0	<u> </u>	-		<u> </u>	<u> </u>	30	S	
4	3	2	2	2	1	1	4	2	2
							-	0	J

Q 11	Q12	Q13	Q14	Q15
3	3	4	2	3

PAPER 1 BOOKLET B

Q16)	967	
Q17)	0.43	
Q18)	24 , 48	
Q19)	13	
Q20)	6:14:3	
Q21)	44.6kg	
Q22)	14	
Q23)		



PAPER 2

<u> </u>	7
Q1)	$2 \div 3/8 = 5\frac{7}{8}$
	5
Q2)	9000 + 80 = 112.5
	112.5 x 100 =11250
	9000 ÷ 120 = 75
	75 x 100 = 7500
Q3)	80 x 80 = 6400
-	6400 x 200 x ¼ = 320000
	0.32m ³
Q4)	a) Northeast
	b) Point E
Q5)	170 x 3 = 510
	510 - 156 - 148 = 206
Q6)	3+5=8
	120 ÷ 8 = 15
	15 x 2 = 30
Q7)	15minutes
1 /	

Q8) $\angle ADC => 180 - 65 - 47 = 68$ $\angle BAD => 180 - 65 - 65 = 50$ $\angle BCE => \frac{180 - 65 - 65 = 50}{2}$ $\angle ABE => 56 + 68 = 124^{\circ}$ Q9) a) 2019 b) 240% Q10) a) 14 - 11 = 3 36 + 3 = 12 12 x 6 = 72 b) 12 x 22 = 264 Q11) \$122.95 Q12) a) $\frac{12 x 4 x 6 = 12 cm^{2}}{2}$ Q12) a) $\frac{12 x 4 x 6 = 12 cm^{2}}{2}$ Q13) a) 62 b) \$6.90 Q14) a) 105° b) 64* Q15) 140 + 5 = 28 28 x 3 = 84 3u = 28c 28 + 36 = 64 187.5 + 50 = 3.75 3.75 x 3 = 1.25 1.25 x 32 = 40 \$40 Q16) a) 19 cm b) 219.32 cm c) 5 cm		
$ \begin{array}{c} \angle DCG => 180 - 65 - 65 = 50 \\ \angle BCE => \frac{180 - 68}{2} = 56 \\ \hline \angle ABE => 56 + 68 = 124^{\circ} \\ \hline Q9) a) 2019 \\ b) 240\% \\ \hline Q10) a) 14 - 11 = 3 \\ 36 + 3 = 12 \\ 12 \times 6 = 72 \\ b) 12 \times 22 = 264 \\ \hline Q11) $122.95 \\ \hline Q12) a) \frac{1}{2} \times 4 \times 6 = 12 cm^{2} \\ \hline Q12) a) \frac{1}{2} \times 4 \times 6 = 12 cm^{2} \\ \hline Q13) a) 62 \\ b) $6.90 \\ \hline Q14) a) 105^{\circ} \\ b) 64^{\circ} \\ \hline Q15) 140 + 5 = 28 \\ 28 \times 3 = 84 \\ 3u = 28c \\ 28 + 36 = 64 \\ 187.5 + 50 = 3.75 \\ 3.75 \times 3 = 1.25 \\ 1.25 \times 32 = 40 \\ 540 \\ \hline Q16) a) 10cm \\ b) 219.32 cm \\ \hline \end{array} $	Q8) $\angle ADC => 180 - 65 - 47 = 68$	
$ \begin{array}{c} \angle BCE = > \frac{180-68}{2} = 56 \\ \angle ABE => 56 + 68 = 124^{\circ} \\ \hline \end{tabular} \\$	$\angle BAD => 180 - 68 = 112$	
$ \begin{array}{c} \angle BCE = > \frac{180-68}{2} = 56 \\ \angle ABE => 56 + 68 = 124^{\circ} \\ \hline \end{tabular} \\$	$\angle DCG => 180 - 65 - 65 = 50$	
$\begin{array}{c c} \begin{array}{c} \begin{array}{c} \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \$		
$\begin{array}{c} Q9 & a) 2019 \\ b) 240\% \\ \hline Q10 & a) 14 - 11 = 3 \\ 36 + 3 = 12 \\ 12 \times 6 = 72 \\ b) 12 \times 22 = 264 \\ \hline Q11) $122.95 \\ \hline Q12) a) \frac{1}{2} \times 4 \times 6 = 12 \text{cm}^2 \\ \hline & & & & & \\ \hline & & & & & \\ \hline & & & &$		
b) 240% Q10) a) $14 - 11 = 3$ 36 + 3 = 12 $12 \times 6 = 72$ b) $12 \times 22 = 264$ Q11) \$122.95 Q12) a) $\frac{1}{2} \times 4 \times 6 = 12 \text{ cm}^2$ Q12) a) $\frac{1}{2} \times 4 \times 6 = 12 \text{ cm}^2$ Q13) a) 62 b) 86.90 Q14) a) 105° b) 86.90 Q14) a) 105° b) 64° Q15) $140 + 5 = 28$ $28 \times 3 = 84$ 3u = 28c $28 \times 3 = 84$ 3u = 28c $28 \times 3 = 1.25$ $1.25 \times 32 = 40$ \$40 Q16) a) 19cm b) 219.32cm	$\angle ABE => 56 + 68 = 124^{\circ}$	
Q10) a) $14-11=3$ 36+3=12 $12 \times 6=72$ b) $12 \times 22 = 264$ Q11) \$122.95 Q12) a) $\frac{12 \times 4 \times 6 = 12 \text{ cm}^2}{4}$ Q13) a) 62 b) 64^{-1} Q13) a) 62 b) 64^{-1} Q14) a) 105° b) 64° Q15) $140+5=28$ $28 \times 3 = 84$ 3u = 28c $28 \times 36 = 64$ 187.5+50 = 3.75 $3.75 \times 3 = 1.25$ $1.25 \times 32 = 40$ \$40 Q16) a) 19cm b) 219.32cm		
$\begin{array}{c} 36 + 3 = 12 \\ 12 \times 6 = 72 \\ \hline b) 12 \times 22 = 264 \\ \hline Q11) $122.95 \\ \hline Q12) a) \frac{1}{2} \times 4 \times 6 = 12 cm^2 \\ \hline \\ \hline \\ Q12) a) \frac{1}{2} \times 4 \times 6 = 12 cm^2 \\ \hline \\ \hline \\ Q13) a) 62 \\ \hline \\ b) 64 \\ \hline \\ Q13) a) 62 \\ \hline \\ b) $6.90 \\ \hline \\ Q14) a) 105^{\circ} \\ \hline \\ b) 64^{\circ} \\ \hline \\ Q15) 140 + 5 = 28 \\ 28 \times 3 = 84 \\ 3u = 28c \\ 28 + 36 = 64 \\ 187.5 + 50 = 3.75 \\ 3.75 \times 3 = 1.25 \\ 1.25 \times 32 = 40 \\ \$40 \\ \hline \\ Q16) a) 19cm \\ b) 219.32 cm \\ \hline \end{array}$		
$\begin{array}{c} 12 \times 6 = 72 \\ b) 12 \times 22 = 264 \\ \hline Q11) \$122.95 \\ \hline Q12) a) \begin{array}{c} 1/2 \times 4 \times 6 = 12 cm^2 \\ \hline & & & & & \\ \hline & & & & & \\ \hline & & & &$		
b) $12 \times 22 = 264$ Q11) \$122.95 Q12) a) $\frac{1}{2} \times 4 \times 6 = 12 \text{ cm}^2$ b) $\frac{1}{2} \times 4 \times 6 = 12 \text{ cm}^2$ Q13) a) 62 b) $\frac{1}{2} \times 4 \times 6 = 12 \text{ cm}^2$ Q14) a) 105° b) 64° Q15) $140 + 5 = 28$ $28 \times 3 = 84$ 3u = 28c 28 + 36 = 64 187.5 + 50 = 3.75 $3.75 \times 3 = 1.25$ $1.25 \times 32 = 40$ $\frac{540}{340}$ Q16) a) 19cm b) 219.32cm		
Q11) $$122.95$ Q12) a) $\frac{1}{2} \times 4 \times 6 = 12 \text{ cm}^2$ Q13) a) 62 b) $$6.90$ Q14) a) 105° b) 64° Q15) $140 + 5 = 28$ $28 \times 3 = 84$ 3u = 28c $28 \times 3 = 84$ 3u = 28c $28 \times 3 = 1.25$ $1.25 \times 32 = 40$ \$40 Q16) a) 19cm b) 219.32cm		
Q13) a) 62 b) 86.90 Q14) a) 105° b) 64° Q15) $140 + 5 = 28$ $28 \times 3 = 84$ 3u = 28c 28 + 36 = 64 187.5 + 50 = 3.75 $3.75 \times 3 = 1.25$ $1.25 \times 32 = 40$ \$40 Q16) a) $19cm$ b) $219.32cm$		
Q13) a) 62 b) 86.90 Q14) a) 105° b) 64° Q15) $140 + 5 = 28$ $28 \times 3 = 84$ 3u = 28c 28 + 36 = 64 187.5 + 50 = 3.75 $3.75 \times 3 = 1.25$ $1.25 \times 32 = 40$ \$40 Q16) a) $19cm$ b) $219.32cm$	Q12) a) $\frac{1}{2} \times 4 \times 6 = 12 \text{ cm}^2$	
Q13) a) 62 b) $\$6.90$ Q14) a) 105° b) 64° Q15) $140 \div 5 = 28$ $28 \times 3 = 84$ 3u = 28c $28 \div 36 = 64$ $187.5 \div 50 = 3.75$ $3.75 \times 3 = 1.25$ $1.25 \times 32 = 40$ \$40 Q16) a) 19cm b) 219.32cm		
Q13) a) 62 b) $\$6.90$ Q14) a) 105° b) 64° Q15) $140 \div 5 = 28$ $28 \times 3 = 84$ 3u = 28c $28 \div 36 = 64$ $187.5 \div 50 = 3.75$ $3.75 \times 3 = 1.25$ $1.25 \times 32 = 40$ \$40 Q16) a) 19cm b) 219.32cm		
Q13) a) 62 b) $\$6.90$ Q14) a) 105° b) 64° Q15) $140 \div 5 = 28$ $28 \times 3 = 84$ 3u = 28c $28 \div 36 = 64$ $187.5 \div 50 = 3.75$ $3.75 \times 3 = 1.25$ $1.25 \times 32 = 40$ \$40 Q16) a) 19cm b) 219.32cm		
Q13) a) 62 b) $\$6.90$ Q14) a) 105° b) 64° Q15) $140 \div 5 = 28$ $28 \times 3 = 84$ 3u = 28c $28 \div 36 = 64$ $187.5 \div 50 = 3.75$ $3.75 \times 3 = 1.25$ $1.25 \times 32 = 40$ \$40 Q16) a) 19cm b) 219.32cm		
Q13) a) 62 b) $\$6.90$ Q14) a) 105° b) 64° Q15) $140 \div 5 = 28$ $28 \times 3 = 84$ 3u = 28c $28 \div 36 = 64$ $187.5 \div 50 = 3.75$ $3.75 \times 3 = 1.25$ $1.25 \times 32 = 40$ \$40 Q16) a) 19cm b) 219.32cm		
Q13) a) 62 b) $\$6.90$ Q14) a) 105° b) 64° Q15) $140 \div 5 = 28$ $28 \times 3 = 84$ 3u = 28c $28 \div 36 = 64$ $187.5 \div 50 = 3.75$ $3.75 \times 3 = 1.25$ $1.25 \times 32 = 40$ \$40 Q16) a) 19cm b) 219.32cm		
Q13) a) 62 b) $\$6.90$ Q14) a) 105° b) 64° Q15) $140 \div 5 = 28$ $28 \times 3 = 84$ 3u = 28c $28 \div 36 = 64$ $187.5 \div 50 = 3.75$ $3.75 \times 3 = 1.25$ $1.25 \times 32 = 40$ \$40 Q16) a) 19cm b) 219.32cm		
Q13) a) 62 b) $\$6.90$ Q14) a) 105° b) 64° Q15) $140 \div 5 = 28$ $28 \times 3 = 84$ 3u = 28c $28 \div 36 = 64$ $187.5 \div 50 = 3.75$ $3.75 \times 3 = 1.25$ $1.25 \times 32 = 40$ \$40 Q16) a) 19cm b) 219.32cm		
Q13) a) 62 b) $\$6.90$ Q14) a) 105° b) 64° Q15) $140 \div 5 = 28$ $28 \times 3 = 84$ 3u = 28c $28 \div 36 = 64$ $187.5 \div 50 = 3.75$ $3.75 \times 3 = 1.25$ $1.25 \times 32 = 40$ \$40 Q16) a) 19cm b) 219.32cm		
Q13) a) 62 b) $\$6.90$ Q14) a) 105° b) 64° Q15) $140 \div 5 = 28$ $28 \times 3 = 84$ 3u = 28c $28 \div 36 = 64$ $187.5 \div 50 = 3.75$ $3.75 \times 3 = 1.25$ $1.25 \times 32 = 40$ \$40 Q16) a) 19cm b) 219.32cm		
Q13) a) 62 b) $\$6.90$ Q14) a) 105° b) 64° Q15) $140 \div 5 = 28$ $28 \times 3 = 84$ 3u = 28c $28 \div 36 = 64$ $187.5 \div 50 = 3.75$ $3.75 \times 3 = 1.25$ $1.25 \times 32 = 40$ \$40 Q16) a) 19cm b) 219.32cm		
Q13) a) 62 b) $\$6.90$ Q14) a) 105° b) 64° Q15) $140 \div 5 = 28$ $28 \times 3 = 84$ 3u = 28c $28 \div 36 = 64$ $187.5 \div 50 = 3.75$ $3.75 \times 3 = 1.25$ $1.25 \times 32 = 40$ \$40 Q16) a) 19cm b) 219.32cm	b) 4-	
Q14) a) 105° b) 64° Q15) $140 + 5 = 28$ $28 \times 3 = 84$ 3u = 28c 28 + 36 = 64 $187.5 \div 50 = 3.75$ $3.75 \times 3 = 1.25$ $1.25 \times 32 = 40$ \$40 Q16) a) 19cm b) 219.32cm	Q13) a) 62	
b) 64° Q15) $140 \div 5 = 28$ $28 \times 3 = 84$ 3u = 28c 28 + 36 = 64 $187.5 \div 50 = 3.75$ $3.75 \times 3 = 1.25$ $1.25 \times 32 = 40$ \$40 Q16) a) 19cm b) 219.32cm		
Q15) $140 \div 5 = 28$ $28 \times 3 = 84$ 3u = 28c $28 \div 36 = 64$ $187.5 \div 50 = 3.75$ $3.75 \times 3 = 1.25$ $1.25 \times 32 = 40$ \$40 Q16) a) 19cm b) 219.32cm		
$28 \times 3 = 84$ 3u = 28c 28 + 36 = 64 $187.5 \div 50 = 3.75$ $3.75 \times 3 = 1.25$ $1.25 \times 32 = 40$ \$40 Q16) a) 19cm b) 219.32cm		
$28 + 36 = 64$ $187.5 \div 50 = 3.75$ $3.75 \times 3 = 1.25$ $1.25 \times 32 = 40$ $\$40$ Q16) a) 19cm b) 219.32cm		
$187.5 \div 50 = 3.75$ $3.75 \times 3 = 1.25$ $1.25 \times 32 = 40$ \$40 Q16) a) 19cm b) 219.32cm		
$\begin{array}{c} 3.75 \times 3 = 1.25 \\ 1.25 \times 32 = 40 \\ \$40 \\ \hline \end{tabular}$ Q16) a) 19cm b) 219.32cm		
1.25 x 32 = 40 \$40 Q16) a) 19cm b) 219.32cm		
\$40 Q16) a) 19cm b) 219.32cm		
Q16) a) 19cm b) 219.32cm		
b) 219.32cm		

·

٠

.

·

Pg 3

.

